EARAZROREIERT — 2 N—XBISY —F 20145118168 (H) 17E£R3H

mﬂﬁ%Zﬁ 6 ‘ [R&] B ‘ (el — | & (B) 14000 TR
[A&4£] 17 :400,000  ~ 23#%&:80,000”  33&:36,000M”  437&:28,000MH .~ 57&:16,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N . —s 2 EFIBAR 1:33.7 ~5-4-2 . — 474 | DNEEFNE (£IR)
1B 2| IV KT« # 54.0 =) o .9 s 47) | BAIEF
R:d—IWR7Y2—Ib B:7LALIN=F BhEFREMXSHIVATHRS
S o EFREA :33. —-2-1- . — hNEEFNE (£R)
5 9| by 7>k o2 o 1 (313) 9 2-2-1-1 | 40.6 1 (4_862) i
L:7H4F2A>NK BV /Xy T RFE EF
., = — RHE : -9-7— — BARR (£IR)
s 4| 7HeTTS it 2 g 1.(344).7 10-9-7-4 | 39.9 2 (4:3) Se
R:TTyvk—y B:R—NI FEE HE
S, o =L s 2 | BUESE 1:34.7 1-1-2-3 | 41.4| — 4 424 | HAREH (£3R)
450 7 el ?4'0 (742=) (-4) (%) 77—/1 [N =2 (2
R:VHAT7>hLyh— B:g—Tq1— FE%S
. or se FHRIBA :36. -8-9- . — EARE (£R)
5 J P2 IRTLY v — 4 2 R 1(386)3 8-8-9-9 | 40.8 6 12(1”7 Ny
L:TA=—TAFAF =Y B:IAXRIwIT1—> Ei=Yie]
. . 4 2 | HH{EE 1:36.4 6-6-6-6 |42.3| — 9 432 | WEH= (£R)
6l5/5|F1T>Fr> 54.0 (3/4) ) | NERBT
V3=t 5T71L B:EAF<A b= N R
i : 4 2 | BEEILE 1:36.5 3-3-3-5 |42.9| — 7 437 | #EB— (£R)
7|8/10| I EYA 54.0 (7€) o) | HlLEE
R:FFHRATF>Dd B:TLIv b SO ¥/3
S . 4 2 | MHEH 1:37.2 4-4-8-8 | 42.8| — 5 414 | BIERZ (£R)
gl11|NvE=-U> 54.0° @) (+6) | XEEE— /
L:h—> BYPRUyLa IR 7
S THI,— T 4 2 | BRERKHE 1:37.5 9-10-10-10 | 41.6 | — 9 408 | HARR (£R)
EH 6 by THIL—T 54.0 (1 1/2) (+4) HiEL
L:FLI /R BTA5RAT 1 EOHS
3 4 2 | BIURF 1:37.7 7-7-5-7 | 43.7| — 8 410 | BRRE (£R)
10/ 7| 8 I/'J'\j' 54.0 (1 1/2) (+4) INEF
R:75v 784K B:¥XAy bLFq H HE
® 1—F—@EBIERL
1T=7r= 7,9,10,1,2,5,8,3,6,4
20—F+— 7,9,10,1,2,5,8,3,4,6
3=I=F— 9,7,10,2,8,5,4,1,3,6
40—+ — 9,2,7,4,10,5,8,1,3,6
[ /N
B 2 420M 714K 2-9 140H e E 2-8 340 JEE 2-4-9 950M
B B 2 1004 2-4 280M e B 2-8 670M JEE 2-9-4 3,990
9 110 4-9 230M B & 2-9 280M
4 1209 B H 2-9 590

ABICOVWTRDTEEERROODE. TR LIV,



